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ECONOMICS

[HONOURS]
Course Code : ECO-H-CC-T-10

(Introductory Econometrics)

Full Marks : 60 Time : 23 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

1. Answer any ten questions: 2x10=20
@I i eesm Teq wie ¢

a) What are the important features of

Econometrics?
REIEGER el el F Fie

b) What do you mean by Regression Analysis?
ftame e <@ e & @R

c) Distinguish between Mathematical Economics

and Econometrics.

afifafes STife W TFEEHER T Ny
@ |
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d)

g)

h)

i)
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What is sampling distribution?

T Rreqe F@ce F(@RI2

What do you mean by statistical inference?
AR ST @A F @RI 2

Distiguish between estimator and estimate of

a parameter.

o “ANANIET estimator €32 estimate-9F
T AL F7 |

What do you mean by « = level of significance

in testing of hypothesis?

QBRI FFR wwmrgd ¥ (o= level of
significance) I F (@RI 2

Distinguish between Null hypothesis and
Alternative hypothesis.

I ZReefatm gk em RenFieE W
ML 91|

Distinguish between t-test and tau test (or z-

test) related to population parameters.

B-536 W3R BR8-(59 (I (TU-(63%6) 9F N
ML 91|

What do you mean by power of test?

AR AT, ATFR T 608 F @[

[2]



k)

D)
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Why does the average value of the dependent
variable differ from the actual value in

regression analysis?

TS oAfTaea T ae e faemi e
P T (ATF ST (o] 2

Prove that the sample regression line passes

through the mean values of X and Y.

A T, T A 3 X @R Y97 51T
T Wy W 97 |

Prove that Y = §1 that is, that the means of
the actual Y values and the estimated Y values

are the same.

&l T (@, dF© Y T G S Y Al
g @32 (Te Y = V)) |

Prove that TSS = ESS + RSS, Where, TSS =

Total Sum of Squares, ESS=Explained Sum of
Squares, and RSS=Residual Sum of Squares.

2yl 9 @&, TSS = ESS + RSS, Where, TSS =
Total Sum of Squares, ESS=Explained Sum of
Squares, and RSS=Residual Sum of Squares.

What do you mean by Autocorrelation

problem?

SGICRIRE N TN 00 F Q@R 2
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2. Answer any four questions: 5x4=20

@~ oRfb 2riw Ted mie ¢

a)

b)

d)

437/Eco

Discuss the important properties of Standard

Normal Distributions.

vl FTeif9s 6799 (Standard Normal
Distributions) @gsjs (T AL 74 |

What are the desirable properties of an

estimator?

43> ©F estimator-9 @Gl FMFeR J
e

Why do we include an error term (u;) to the

regression model?

& ol f{ease e @ F o o (u)
TETE FA T2

What is the difference between a stochastic
population regression function (PRF) and a

stochastic sample regression function (SRF)?

9F EORFIPGT TPy [as wi* (PRF)
OR G0 EGIFIPGF Tl e« Fi*w (SRF)-
a7 g AL e

Prove that the sum of the product of residuals

ei and the estimated Y; is always zero

(i.e.,z Ye = 0) .
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3. Answer any two questions:

g T @, SRFBIA ¢ @R ST Y43
SORFCTR I 7 4 (ie., ) Yie, =0) |

10x2=20

- 76 AT TSR 7S ¢

a)

b)
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What do you mean by Methodology of
Econometrics? Describe the steps to carry out
an econometric study on Keynesian

consumption functions. 4+6

NG (e wre F R
(FEEATN FAGT FIHTT CAT G
BEIEIGIGS DI T ~mesoiale <@ 531

Explain the important assumptions of two

variable classical linear regression model.

Two variable-gPie ferfasa e TrewET
7 olel S IR |

Describe how to estimate intercept and slope
coefficient of two variable linear regression
model. Show that OLS estimator of slope
coefficient is BLUE. 5+5

Two variable -1 e« T©ER TORETS
3R BIF 725! SO S 1 A ©f Iefet <1 |
MAT8 (¥, OIeT AT OLS estimator 2s1
BLUE |
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d)
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Fill in the blank parentheses ( ) and interpret

the following regression results:

GNP, = 995.5183 + 8.7503 M, 1> = 0.9488
se = ( )
t = (—3.8258) ( )

(0.3214)

Where GNP = Gross National Product
(in Rs. billions),

MI1 = Money supply (in Rs. billions)

FI IFA () 770 T 9IR TAT forlre R
ZFoTIRFST PRI S ¢

@A fErgafat = @io wrem sty ([ferms S,
M1 = 5 Fgaaz (Rierms Biwm) |
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